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1. Calculate the pH of the solutions, and state whether each is an acid, base, or neutral.
2) 0,0000001 MH* ,H= - )i ) : ] et e |
b) 0.00001MOH ot = -‘ze. [na =5 9 base
S : 14-S= “
5 Calculate the H ion concentration, and state whether each is an acid, base, or hautral.
a) pH=6 [Hf}= icf{’“' ‘ b ros e Acich
b) PH=9 [ui) = is" ', L o bas<
c) pOH=3 pH=H->= I Chd= = . | s base
d) pOH=12 pH=1-2=2 (W= 1" e ac ek
3. Calculate the H" ion concentration, and state whether each is an acid, base, or neutral.
2) [OH]=151x10° pon= = leg(lsinithi.ea (., (ore _ base
b) [OH]=3.46x107" pen _%.{5 eﬁhzé,gl«g-qeg D, Favis= ic it
4. Calculate the OH ion concentrgtloﬁ qa;ud state wheth%r%ach is an acxd base or neutral.
a) [H']=2.80x10" f“'“f@ﬁ%}g’*@ %‘_",;f*“ et 3,573 YIS aci A
b)) [H]=7.58x10° pii Y mﬂgz;{,g |, 2axis? base
5. Calculate the pH and state Whether each is an acid, base, or neutral.
a) pOH=658 14 - (S5= *42 =2 .42 | oas-<
b) pPOH=852 K- §3% = s.48 - geih
6. Calculate the pOH and state whether each is an acid, base, or neutral.
g) pH=1156 14-11Sk= 245 244 _ pese
b) pH=233 M- 222 =i-c¥ | e S oA
7. Complete the following table
[H] pH POH [OHT | “femr
e % 1 m 8.99 5 ol G Frn s base
[, 1€ x les"é”,m Fa4 5.06 . H xisep bas<
7.28x10° M 2.4 1. g6 [ 28 % 57V, Acit
SFB] M 4yl 1».s3 2.99x10™ M aciA
AR io'gM F. a4 (. 206 6.23x107 M base
D35 % 1" 1056 | DA 2.0 M base.
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